TABLE I

FURBEARER

TEN-YEAR COMPARISON OF HUNTERS AND EFFORT

STATEWIDE

2014-2023

METRIC	2014	2015	2016	2017	2018	2019	2020	2021	2022	2023
VALID LICENSEES	2397	2257	2197	2281	2544	2754	2714	3069	2703	2582
RESPONSE RATE	32.00%	37.70%	34.50%	28.60%	29.60%	31.00%	25.40%	16.60%	25.30%	25.29%
DAYS AFIFI D	_	12517	11824	20817	17937	23180	34146	38958	25732	24132

		YEAR									
SPECIES	METRIC	2014	2015	2016	2017	2018	2019	2020	2021	2022	2023
	TOTAL HARVEST	721	611	704	1397	955	799	1025	622	481	353
	TOTAL INDIVIDUALS	408	440	456	521	464	495	538	451	329	243
BADGER	TRAP NIGHTS/HARVEST	-	-	-	_	-	461.1	195.1	425.9	276.6	148.3
	SNARE NIGHTS/HARVEST	-	-	-	_	-	1695.7	652.6	86.3	271.5	0
	HUNT DAYS/HARVEST	_			_		18	10.1	12.5	17.6	15.9
	TOTAL HARVEST	4626	2019	1285	1794	1582	2037	3073	4348	2451	2297
	TOTAL INDIVIDUALS	532	363	231	279	277	336	430	494	408	326
BEAVER	TRAP NIGHTS/HARVEST	-	-	-	_	-	18.2	21.5	26.6	20.3	23.1
	SNARE NIGHTS/HARVEST	-	-	-	-	-	35.8	39	26.4	30.4	63.2
	HUNT DAYS/HARVEST	_	_	_	_	_	8.7	3.4	14.1	6.9	7.8
	TOTAL HARVEST	485	235	309	419	241	417	500	750	351	149
	TOTAL INDIVIDUALS	206	180	112	157	128	120	134	181	113	64
MINK	TRAP NIGHTS/HARVEST	-	-	_	-	-	52.1	50.7	103.6	71	32.8
	SNARE NIGHTS/HARVEST	-	-	_	-	-	71.7	0	0	8.1	0
	HUNT DAYS/HARVEST	-	-	-	-	-	13.4	10.9	10.5	5.6	3
	TOTAL HARVEST	7354	3367	1555	3690	1435	1958	1585	2628	1685	1867
	TOTAL INDIVIDUALS	374	347	164	262	188	170	166	227	168	133
MUSKRAT	TRAP NIGHTS/HARVEST	-	_	-	_	-	11.5	239.3	35.4	14.9	19.3
	SNARE NIGHTS/HARVEST	-	-	_	-	-	0	0	0	0	0
	HUNT DAYS/HARVEST	-	_	-	_	-	12.8	1.1	11.3	10.4	3.6
	TOTAL HARVEST	1596	966	950	1493	1344	956	959	1305	1414	937
	TOTAL INDIVIDUALS	158	145	117	195	139	107	109	122	104	103
MARTEN	TRAP NIGHTS/HARVEST	-	_	-	_	-	62.8	45.2	37.5	33	37.8
	SNARE NIGHTS/HARVEST	_	_	_	_	_	0	0	0	0	1292
	HUNT DAYS/HARVEST	_	_	_	_	_	0	0	0	0	0
	TOTAL HARVEST	168	38	58	49	39	36	28	30	20	60
	TOTAL INDIVIDUALS	93	40	48	48	50	44	52	27	28	38
WEASEL	TRAP NIGHTS/HARVEST	_	_	-	_	_	200.6	363.6	492.6	569.3	104.2
	SNARE NIGHTS/HARVEST	_	_	-	_	_	0	0	0	0	0
	HUNT DAYS/HARVEST	_	_	_	_	_	1	0	0	31.5	0

Note:

 $[\]mbox{'VALID}$ LICENSEES' indicates the number of unique license holders

 $^{{\}rm 'DAYS~AFIELD'~indicates~the~total~number~of~days~spent~in~the~field~setting~or~checking~traps/snares~or~hunting}$

TOTAL INDIVIDUALS' indicates the number of unique individuals that trapped, snared or hunted for each species

TABLE II

BADGER

HARVEST ESTIMATES BY MANAGEMENT AREA

2023-2024

			TR	AP			SN	ARE			Н	JNT			
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	HUNTERS	DAYS	HARVEST	DAYS/ HARVEST	TOTAL INDIVIDUALS ²	TOTAL HARVEST
	RESIDENT	16	8060	8	1007.5	0	0	0	0	20	109	8	13.6	36	16
1	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	16	8060	8	1007.5	0	0	0	0	20	109	8	13.6	36	16
	RESIDENT	4	1448	4	362	0	0	0	0	20	88	16	5.5	24	20
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	1448	4	362	0	0	0	0	20	88	16	5.5	24	20
	RESIDENT	12	10257	20	512.9	0	0	0	0	20	125	12	10.4	32	32
3	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	12	10257	20	512.9	0	0	0	0	20	125	12	10.4	32	32
	RESIDENT	28	6331	88	71.9	0	0	0	0	40	543	16	33.9	56	104
4	NONRESIDENT	2	2640	16	165	0	0	0	0	0	0	0	0	2	16
	AREA TOTAL	30	8971	104	86.3	0	0	0	0	40	543	16	33.9	58	120
	RESIDENT	36	5816	97	60	0	0	0	0	48	547	36	15.2	80	133
5	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	36	5816	97	60	0	0	0	0	48	547	36	15.2	80	133
	RESIDENT	0	0	0	0	0	0	0	0	28	499	32	15.6	28	32
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	0	0	0	0	0	0	0	0	28	499	32	15.6	28	32
CIES TOTAL	-	99	34552	233	148.3	0	0	0	0	161	1911	120	15.9	243	353

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE III

BEAVER

HARVEST ESTIMATES BY MANAGEMENT AREA 2023-2024

-			TF	RAP			SN	ARE			Н	JNT			
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	HUNTERS	DAYS	HARVEST	DAYS/ HARVEST	TOTAL INDIVIDUALS ²	TOTAL HARVEST
	RESIDENT	80	20095	648	31	20	10880	185	58.8	12	48	8	6	101	841
1	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	80	20095	648	31	20	10880	185	58.8	12	48	8	6	101	841
	RESIDENT	32	3029	117	25.9	8	205	0	0	0	0	0	0	36	117
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	32	3029	117	25.9	8	205	0	0	0	0	0	0	36	117
	RESIDENT	36	7542	330	22.9	4	804	12	67	8	12	0	0	40	342
3	NONRESIDENT	2	72	8	9	0	0	0	0	0	0	0	0	2	8
	AREA TOTAL	38	7614	338	22.5	4	804	12	67	8	12	0	0	42	350
	RESIDENT	32	1878	133	14.1	0	0	0	0	8	48	0	0	32	133
4	NONRESIDENT	2	80	0	0	0	0	0	0	0	0	0	0	2	0
	AREA TOTAL	34	1958	133	14.7	0	0	0	0	8	48	0	0	34	133
	RESIDENT	76	10281	523	19.7	20	2848	36	79.1	16	475	68	7	88	627
5	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	76	10281	523	19.7	20	2848	36	79.1	16	475	68	7	88	627
	RESIDENT	24	2920	225	13	0	0	0	0	4	44	4	11	28	229
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	24	2920	225	13	0	0	0	0	4	44	4	11	28	229
SPECIES TOTAL	-	286	45897	1984	23.1	52	14737	233	63.2	48	627	80	7.8	326	2297

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE IV

MINK

HARVEST ESTIMATES BY MANAGEMENT AREA

2023-2024

			TF	RAP			SN	ARE		HUNT					
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/	HUNTERS	DAYS	HARVEST	DAYS/	TOTAL	TOTAL
					HARVEST				HARVEST				HARVEST	INDIVIDUALS ²	HARVEST
	RESIDENT	12	2832	16	177	0	0	0	0	0	0	0	0	12	16
1	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	12	2832	16	177	0	0	0	0	0	0	0	0	12	16
	RESIDENT	20	1170	97	12.1	0	0	0	0	0	0	0	0	20	97
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	20	1170	97	12.1	0	0	0	0	0	0	0	0	20	97
	RESIDENT	4	16	4	4	0	0	0	0	4	8	0	0	8	4
3	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	16	4	4	0	0	0	0	4	8	0	0	8	4
	RESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
4	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	RESIDENT	16	495	28	17.7	0	0	0	0	4	4	4	1	20	32
5	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	16	495	28	17.7	0	0	0	0	4	4	4	1	20	32
	RESIDENT	4	241	0	0	0	0	0	0	0	0	0	0	4	0
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	241	0	0	0	0	0	0	0	0	0	0	4	0
SPECIES TOTAL	-	56	4754	145	32.8	0	0	0	0	8	12	4	3	64	149

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE V

MUSKRAT

HARVEST ESTIMATES

BY MANAGEMENT AREA

2023-2024

			TI	RAP			SNARE					JNT			
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	HUNTERS	DAYS	HARVEST	DAYS/ HARVEST	TOTAL INDIVIDUALS ²	TOTAL HARVEST
	RESIDENT	48	23107	1118	20.7	0	0	0	0	12	84	0	0	60	1118
1	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	48	23107	1118	20.7	0	0	0	0	12	84	0	0	60	1118
	RESIDENT	28	2108	278	7.6	0	0	0	0	0	0	0	0	28	278
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	28	2108	278	7.6	0	0	0	0	0	0	0	0	28	278
	RESIDENT	4	7843	241	32.5	0	0	0	0	4	24	16	1.5	8	257
3	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	7843	241	32.5	0	0	0	0	4	24	16	1.5	8	257
	RESIDENT	16	1673	93	18	0	0	0	0	0	0	0	0	16	93
4	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	16	1673	93	18	0	0	0	0	0	0	0	0	16	93
	RESIDENT	8	64	8	8	0	0	0	0	4	8	16	0.5	12	24
5	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	8	64	8	8	0	0	0	0	4	8	16	0.5	12	24
	RESIDENT	8	627	97	6.5	0	0	0	0	0	0	0	0	8	97
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	8	627	97	6.5	0	0	0	0	0	0	0	0	8	97
SPECIES TOTAL	-	113	35422	1835	19.3	0	0	0	0	20	116	32	3.6	133	1867

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE VI

MARTEN

HARVEST ESTIMATES

BY MANAGEMENT AREA

2023-2024

			TF	RAP			SN	ARE			Н	UNT	_		
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	HUNTERS	DAYS	HARVEST	DAYS/ HARVEST	TOTAL INDIVIDUALS ²	TOTAL HARVEST
	RESIDENT	56	24897	652	38.2	4	241	0	0	0	0	0	0	56	652
1	NONRESIDENT	2	1140	34	33.5	0	0	0	0	0	0	0	0	2	34
	AREA TOTAL	58	26037	686	38	4	241	0	0	0	0	0	0	58	686
	RESIDENT	4	298	32	9.3	0	0	0	0	0	0	0	0	4	32
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	298	32	9.3	0	0	0	0	0	0	0	0	4	32
	RESIDENT	8	644	0	0	4	4927	4	1231.8	0	0	0	0	8	4
3	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	8	644	0	0	4	4927	4	1231.8	0	0	0	0	8	4
	RESIDENT	16	5816	153	38	0	0	0	0	0	0	0	0	16	153
4	NONRESIDENT	2	300	2	150	0	0	0	0	0	0	0	0	2	2
	AREA TOTAL	18	6116	155	39.5	0	0	0	0	0	0	0	0	18	155
	RESIDENT	12	2148	56	38.4	0	0	0	0	0	0	0	0	12	56
5	NONRESIDENT	2	60	4	15	0	0	0	0	0	0	0	0	2	4
	AREA TOTAL	14	2208	60	36.8	0	0	0	0	0	0	0	0	14	60
	RESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	0	0	0	0	0	0	0	0	0	0	0	0	0	0
SPECIES TOTAL	-	103	35303	933	37.8	8	5168	4	1292	0	0	0	0	103	937

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE VII

WEASEL

HARVEST ESTIMATES BY MANAGEMENT AREA

2023-2024

			TF	RAP			SN	ARE			н				
AREA	RESIDENCY	TRAPPER	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	SNARERS	NIGHTS ¹	HARVEST	NIGHTS/ HARVEST	HUNTERS	DAYS	HARVEST	DAYS/ HARVEST	TOTAL INDIVIDUALS ²	TOTAL HARVEST
	RESIDENT	12	4042	52	77.7	0	0	0	0	0	0	0	0	12	52
1	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	12	4042	52	77.7	0	0	0	0	0	0	0	0	12	52
	RESIDENT	8	483	0	0	0	0	0	0	0	0	0	0	8	0
2	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	8	483	0	0	0	0	0	0	0	0	0	0	8	0
	RESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
3	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	RESIDENT	12	1368	4	342	0	0	0	0	0	0	0	0	12	4
4	NONRESIDENT	2	240	0	0	0	0	0	0	0	0	0	0	2	0
	AREA TOTAL	14	1608	4	402	0	0	0	0	0	0	0	0	14	4
	RESIDENT	4	121	4	30.2	0	0	0	0	0	0	0	0	4	4
5	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	4	121	4	30.2	0	0	0	0	0	0	0	0	4	4
	RESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
6	NONRESIDENT	0	0	0	0	0	0	0	0	0	0	0	0	0	0
	AREA TOTAL	0	0	0	0	0	0	0	0	0	0	0	0	0	0
SPECIES TOTAL	-	38	6254	60	104.2	0	0	0	0	0	0	0	0	38	60

Note:

- 1 'NIGHTS' is calculated as the number of trap (or snare) sets multiplied by the number of nights that trap (or snare) sets were out
- 2 'TOTAL INDIVIDUALS' indicates the number of trappers, snarers, and hunters

TABLE VIII

LICENSE DATA SUMMARY

STATEWIDE **2023-2024**

RESIDENCY	VALID LICENSEES ¹	RESPONDED	RESPONSE RATE
NONRESIDENT	44	22	50.0%
RESIDENT	2538	631	24.9%
TOTAL	2582	653	25.3%

^{1 &#}x27;VALID LICENSEES' indicates the number of unique license holders.